D HzkELY

1145 e g st H P s iR L L p 2L

i3 B

p #

AR,
~ v

i

i

113 # 11 * 15p (1)

FLFRLY
(% %pr BFREP 2 &)

114 #02 " 03p (- ) F = 9pFd= ]
114 # 02 » 07 p (I ) T = 4pF)t

(AP eMfer # v ¢ Mg r # Do THE G)

ek R BT MR B

114 # 02 %" 11 p (=Z ) = 9pF4=3
114 # 02 #» 25p (=) T= 3@t
(3P MR 2 ®MRr2 AR AWUFERESFI AL ZUYRE)

ERFLFEIEEE

R

L

114 # 02" 11 p (=) +F = 9pFde3
114 # 02 % 25p (=) T=4pF)t

S R f R

114 #03 % 10p (- ) T= 1p4

aEali) B

114 #03 % 10p (- ) T= 1p4
(PR EIE BEFTAL NS AT Y4350 F030)

AR

114 # 03" 29 p (=)

ﬁﬁ\{igﬁTﬁﬁﬁEa
brPil o H

114 # 04 » 14 p (- ) 7= 5pF4e

LB %D

1142049 22p (=) %

i - ZBR2LP

114 = 04 * 28 p (- )

[ESE RIS

p
(RAAXNEEREIIH LS -
HTBEhpg L)

114 # 07 % 15p (=) T= 5 pF
XEDEFFAFIe %L #3 EHERr I WM Fep L% 28

BB BSVEA A P
(BB RAaddri 3858 %)

148 =R LEHREP
(NARVNAEERGERAILLE) T 5k




